Name::

Score:

[ Identifying Solutions - MCQ]

Choose the correct solution that best describes each inequality.

One-step: S2

/
) [x-11]<18

N [
2) |x+12]>5

a) (-00,29) N (=7, =) b) (=0, =29) L (=7, e0) a) (=00, =17) U (7, ) b) (=e0,=7) L (17, o)
Q) (=00, 7) M (=29, o0) d) (~o0, =7) M (=29, ) C) (=o0,=17) U (=7, o) d) No solution
AN

4

a) (-0, 24] M [-24, o)

\ (4) | 20% | > 40

PREVIEW

C) (_001_24]

-

s

5 |x-13|=7

a) (_°°l _20] o [_61 °°)

C) (_°°I _6] o [201 °°)
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b) (_°°l 2] M [_21 °°)

d) (_°°l _2] (& [21 °°)

b) (_ool 5]

d) No solution

-
7) |x+17|<20
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a) (-0, -3] b) (=0, =10] U [10, o)
Q) (=00, =37] U [3, =) d) (=0, 3] M [-37, o) J tC) (=oo, =10] d) [10, =)
NG
4 N [
9 |24x|>24 10) [x-8]<9
a) (-0, -1) b) (1, ) a) (=o0,17) N (=1, 00) b) (—oo, 1) M (=17, )
Q) (=o0,=1) U (1, o) d) (=0, 1) U (=1, ) Q) (=00, =1) N (=17, o) d) No solution
NG 2N
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